
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

311.2 × 10 =(−4) 10 =(−3)

856.5 ÷ 10 =(−4) 10 =(−2)

591.8 × 10 =(−1) 10 =(−3)

371.6 × 10 =2 5 × 10 =2

4 × 10 =2 798.9 × 10 =(−2)

175.3 × 10 =(−1) 10 =(−4)

508.2 × 10 =(−3) 824.7 × 10 =(−1)

2 × 10 =(−3) 10 =(−3)

10 =(−4) 9 × 10 =(−4)

2 × 10 =(−3) 10 =(−4)
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

311.2 × 10 = 0.03112(−4) 10 = 0.001(−3)

856.5 ÷ 10 = 8565000(−4) 10 = 0.01(−2)

591.8 × 10 = 59.18(−1) 10 = 0.001(−3)

371.6 × 10 = 371602 5 × 10 = 5002

4 × 10 = 4002 798.9 × 10 = 7.989(−2)

175.3 × 10 = 17.53(−1) 10 = 0.0001(−4)

508.2 × 10 = 0.5082(−3) 824.7 × 10 = 82.47(−1)

2 × 10 = 0.002(−3) 10 = 0.001(−3)

10 = 0.0001(−4) 9 × 10 = 0.0009(−4)

2 × 10 = 0.002(−3) 10 = 0.0001(−4)
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